Algebra 1: Unit 7, lesson 5 Notes: Graphing and Solving Quadratic Functions: Intercept For

Exploring Quadratic Function in Intercept Form.
What could you do with a function in this form?

A rollercoaster travels at o constant rate for 8 seconds. It begins by traveling horizontally; after three seconds
it begins inclining until it reaches its peak and then drops down. When the coaster begins traveling horizontally
| again, seven seconds have passed. It then travels horizontally for 1 second before the rate of the coaster

changes. The engineer of the rollercoaster tells you that the maximum the coaster goes is 48 feet
Draw a “rough” graph of what you know so far about this graph, your focus primarily being the parabolo

shape that has been formed. ‘
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Algebro 1: Unit 7, lesson 5 Notes: Graphing and Solving Quadratic Functions: Intercept Form Name:

Exploring the graph of a Quadratic Function in intercept form.

B 2

Graph: g(x) = (x + 2)(x — 4)

Steps to groph a guadratic function in lntercept
Form: f{x) = alx-p)ix—a):
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Algebra 1: Unit 7, lesson 5 Notes: Graphing and Solving Quadratic Functions: Intercept Form Name:

Examples: Find all the parts and graph the guadratic function in intercept form.

S ) =20x=1)(x+5) =2 J(x)= “é(x ~1)(x+7)
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Examples of Changing from Intercept Form to Standard Form

Write the equation in intercept form and then
change it to standard form.
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